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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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25001 _ Fit vs obs: a=1.11, b=-173.41, r=0.96
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P3-15

FriE) [ EBIATK (FD) | ERE (EHA/) | BEBREE (B/R) [XKS R

06:45 288 150. 0 2.888 |Z=| FnHAe06:45 KENFERF (KAEREE)
07:15 288 150.0 2.888 | =| FmHAe07:15 KEFEHF (REBERE)
07:45 288 150.0 2.888 (£ =| FhHA@O7:45 KENFEF (KRAIEEEE)
08:15 288 150.0 2.888 |Z=| FnHA@08:15 KENFERF (KAFEREE)
09:05 288 150.0 2.888 | =| FnHA@09:05 KEFEHF (KRABERE)
09:45 288 150.0 2.888 (£ =| FMHA@09:45 KENFZEF (KRAIEEEE)
10:20 288 150.0 2.888 (£ =| FhHA@10:20 KENFEF (RA{EEER)
10:50 288 150.0 2.888 | =| FnHA@10:50 KREFEF (GRABERE)
11:20 288 150.0 2.888 |z =| FmHAe11:20 KREFEHF (GRABERSE)
11:50 288 150.0 2.888 |Z=| FmHA@11:50 KEFEHF CGRABEREE)
12:20 288 150.0 2.888 | =| FhHAe12:20 KREFERF (RAERSE)
12:50 288 150.0 2.888 |z =| FmHA@12:50 KREFEHF (GRABERSE)
13:20 288 150.0 2.888 (Z=| FhHA@13:20 kENFEF CRAfEEER)
13:50 288 150.0 2.888 | =| FnHA@13:50 KREFEF (KRAFERSE)
14:20 288 150.0 2.888 |Z=| THA@14:20 KEFEHF (GRAEBERSE)
14:50 288 150.0 2.888 |Z=| TiHHe14:50 KEIEF (RAAIEESE)
15:20 288 150.0 2.888 |Z=| FHAe15:20 KEEF (RAFERSE)
15:55 288 150.0 2.888 (& =| ThHAe15:55 KEIEF CRAHEESR)
16:35 288 150.0 2.888 (Z=| FhHA@16:35 KENFEF (RA{EEER)
17:25 288 150.0 2.888 (& =| TaHA@17:25 KENFEF (RA{EREER)
21t 5760.0 (20)%) 3000. 0 32 HKEC: 2080.0, PH: 5.6

[E&EC 5297.0 K&, EiLFAKECAE&idEE R
HEEKECE (1803.0 vs 5297.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-15_0, Day=73 (2025-06-12)
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P3-15

BriE) | EBIATK (D) | EHE (EH/H) | BEBRERE (/R |[XKS ERE

06:55 283 150.0 2.888 A5 1Ri&e06:55 B3 (RFEEREE)
07:30 283 150.0 2.888 RS {Ri&@07:30 Hah (REMERSE)
08:30 283 150.0 2.888 S| 1Ri%e08:30 Bal (REEZE®R)
09:15 283 150.0 2.888 5| Ri%@09:15 Bz (REERESE)
09:55 283 150.0 2.888 RS {Ri&e09:55 Bzl (REERSE)
10:35 283 150.0 2.888 RS {Ri%@10:35 Bz (REAERE)
11:15 283 150.0 2.888 S| Rige11:15 Bz (REERRSR)
11:50 283 150. 0 2.888 5| {Rige11:50 B3h (KRBERKSE)
12:20 283 150.0 2.888 S| Rige12:20 Bz (REAERE)
12:50 283 150.0 2. 888 B Rige12:50 Bz (REAERSE)
13:20 283 150.0 2.888 el Rige13:20 Ba) (REAEHSE)
13:50 283 150.0 2.888 RSl Rige13:50 Bz (REAEHE)
14:20 283 150.0 2. 888 B Rige14:20 Bz (REAERSE)
14:50 283 150.0 2.888 BE| Rige14:50 Ba) (REAEESE)
15:20 283 150.0 2.888 BE| Rige15:20 Ba (REAERE)
15:55 283 150.0 2. 888 BE| Rige15:55 Bz (REAERSE)
16:40 283 150.0 2. 888 el Rige16:40 Bal (REEESE)
2it] 4811.0 (17%) 2550. 0 JEIUHKEC: 2080.0, PH: 5.6

FEREHEME STEAERST (184.0 : 147.0), AIEEAT—@E XAHE5
ZRIAKFREBRE147.0 ml.

large discrepency for begining water status (210:12.0), set to 210 ml.
[B;&EC 5667.0 K5, EiINFA{RECAER HItER

BE[EIKRECE (1847.0 vs 5667.0) 5
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m=470,m FV0=0 m=510,m FV0=0
0 —o— MW-{ 425 —o— MW
5 -
42.0 -
0 -
41.5
5 -
0 41.0 -
5 -
T T T 40 5 T T T
470 475 480 510 515 520
m=630,m FV0=0 m=665,m FV0=0
5
—o— MW —— MW
42.0 -
0 -
41.5 -
5 -
41.0
0 -
40.5 -
5 -
0 40.0 -
630 635 640 665 670 675
m=755,m FV0=0 m=785,m FV0=0
—o— MW —o— MW
5 _ 42 0 N
41.5
0 -
41.0 -
5 -
40.5 -
0 -
40.0 -

760 765

785 790 795

42.

42.

41.

41.

40.

42.

41.

41.

40.

40.

42.

42.

41.

41.

40.

J —— MW
37 _| T T T
400 600 800 1000
m=555,m FV0=0
97 —— N
o -
5 -
0 -
5 -
555 560 565
m=695,m FV0=0
—— N
0 -
5 -
0 -
5 -
0 T T T
695 700 705
m=815,m FV0=0
5 4 —— MW
0 -
5 -
0 -
5 -

820 825

40.

39.

39.

38.

38.

37.

37.

42.

42.

41.

41.

40.

40.

42.

41.

41.

40.

40.

42.

41.

41.

40.

m=440, FV0=0

M_w

445 450
m=595 m FV0=0

—— MW

7

660 665
m=725,n FV0=0

—o— MW

7é0 7é5
m=850,n FV0=0

725

- MW

=

850 855 860




m=890, FV0=0
42.0 1 —— MW
41.5
41.0 A
40.5
40.0
T T T
890 895 900

m=930, FV0=0

42.5 A

42.0 A

41.5 -

41.0 A

40.5 -

40.0 A

—O—

M_w

930

T
935

940

m=975, FV0=0

42.5

42.0

41.5

41.0

40.5

40.0 -

—o—

M_W

975

T
980

T
985

m=1035, FV0=0
42.5 A . MW
42.0 A
41.5 A
41.0 A
40.5 A
T T T
1035 1040 1045
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1
12
12

13

16

110
145
:30
10:
115
:00
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13:
140
14:
14:
15:
15:
140

00 0 N N4 oo O O

100

:00 -
:05 -
140 -
:00

80

- 60
25

- 40

10

10
40
15
55

§_



P3-15

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:00 283 150. 0 2.888 sl {Ri&e07:00 Bal (REAERHE)
07:35 283 150.0 2.888 RS {RRi&e07:35 Bl (REAEHE)
08:10 283 150. 0 2.888 BE| 1Ri%e08:10 Bz (RF{EREE)
08:45 283 150. 0 2.888 iE| 1BRi%e08:45 Bz (REERSE)
09:30 283 150.0 2.888 RS {Ri%@09:30 B (REAEHE)
10:25 283 150. 0 2.888 BE| 1Ri%e10:25 Bz (KRGS
11:15 283 150. 0 2.888 e Bi%el1:15 Bz (GREERSE)
12:00 283 150.0 2.888 el Rige12:00 Bz (REAEHSE)
12:40 283 150. 0 2.888 BE| BRi%e12:40 Bz (GGREAERESE)
13:10 283 150. 0 2.888 e Bi%e13:10 Bz (REERSE)
13:40 283 150.0 2.888 S| Rige13:40 Bal (REAEHE)
14:10 283 150.0 2.888 B 1Ri%e14:10 Bz CGGREMEESE)
14:40 283 150. 0 2.888 Bl Rige14:40 Bah (REEESE)
15:15 283 150.0 2.888 el Rige15:15 Ba) (REAEHSE)
15:55 283 150.0 2.888 BS| 1Ri%e15:55 B CGGREEESE)
16:40 283 150. 0 2.888 BE| 1Ri%e16:40 Bz (RF{EREE)
23t 4528.0 (16)%) 2400. 0 3233 %EC: 2080.0, PH: 5.6

TERRHLER 2 STEEARTF (184.0 :

ZRIAEBRIERE147.0 ml.

[E;KEC 5840.0 K5, EiFHAKECAE & hikER
HEEIHECE (1887.0 vs 5840.0) 5

147.0), AlEEHT—R % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=71 (2025-06-10)

150 Fo—————F——————F——————F——————F——————F——————F——————F-—————f-—— - f———_—]
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2760 | 3000
2208 2200 2030
100 {1800 "% 2000
395
50 - 1000
20 Warning: lcol [FVI',| "FVO’'] missing 20
0 + - 06
000 | M= VI — ME P
FRV maxM | 34
150_ ____________________________ N | U | WA | - TN | ___ JRR |, S N A S
(NN
1 - 32
il )
50 A = u N N | N W S | - 30
o HIEEENININENE ”
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.6 ¢
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 7
Bylnit @D73 02:03: ET=2913 Fg=3150.0 Ro=442.0 ?4000
400 4 :
: - 3000
1
1 - 2000
200 - !
1
- 1000
1
p o \
O_E. 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
g 5 | B | B B | B |KB|B|B]| B i 5 | BS 5 i 5 | B5 5 | BB | BB 5 5 i 5 | 4000
1
400 1"ByEt @71 19:06: ET=2949 Fg=2205.0 Ro=nan : | 2000
1
——0—9
200 P o—o L 2000
— 1
: - 1000
o —o—0—0—© S N
0 p—m—ap—oa P L — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
5 5 5 i 5 5 5 i 5 5 G A B 5 5 A B 5 G A B 5 G 5| 4000
1
4001 BylWoFy @D73 02:03: ET=1970 Fg=2400.0 Ro=471.0 | 2000
1
1
1 - 2000
200 - !
: - 1000
p——
1.0 ps—tp 14 ; 0
0osl B | B | S
0.6 -
0.4 1
0.2 A
1g08- —_ 4
[ ] | _obs
—@— PPFD obs

40 -

[ ] RH_obs
[ ) RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



29 - ME
T T T T
400 600 800 1000
m=580,m FV0=0
34 —e— ME
33
32
31
T T T
580 585 590
m=755,m FV0=0
34 —e— ME
33
32
31
755 760 765
m=890,m FV0=0
—e— ME
34.0 -
33.5 -
33.0 -
32.5 1
32.0 -
31.5

890 895 900

34.

33.

33.

32.

32.

31.

34.

34.

33.

33.

32.

32.

31.

m=440, FV0=0
- ME
32 -
31 -
30 -
29 -
440 445 450
m=630,m FV0=0

34 -

33 -

32 -

31 -

—o— ME

7

655 6&0
m=785,n FV0=0

—o— ME

i

750 755
m=925,n FV0=0

785

-o— ME

i
i

925 930 935

m=475, FV0=0

34.

33.

33.

32.

32.

31.

31.

—o— M_E

4é0 4é5
m=675,n FV0=0

475

33 A

32 A

31 A

—0— ME

6é0 6é5
m=825,n FV0=0

33 A

32 -

31 A

—0— ME

850 Bé5
m=960,n FV0=0
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33. 0 -

32.5 -
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-o— ME
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33.

33.

32.

m=535, FV0=0

34 -

33 A

32 -

31 -

—0—

M_E

5&0 5&5
m=715,n FV0=0

34 -

33 -

32 -

31 4

—o—

M_E

750 7é5
m=855,n FV0=0

25 A

00 -
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25 -
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M_E

75 4
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33 A
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42.

41.

41.

40.

40.

39.

41.

41.

40.

40.

39.

42.

42.

41.

41.

40.

m=440, FV0=0

40.5 -
434 —@— MW —— MW
40. 0 1
42
39.5 -
41
10 4 39.0 1
39 38.5 4
38 - 38.0 -
T T T T T T T
400 600 800 1000 440 445 450
m=580,m FV0=0 m=630,m FV0=0
0 -
—— W —— MW
5 -
41.5 4
0 -
41.0 1
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40.5 -
0 -
40. 0 -
5 - T T T T T T
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m=755,m FV0=0 m=785,m FV0=0
—o— MW —— MW
5 - 42.0
01 41.5
5 - 41.0 1
01 40.5 -
57 40.0 -
755 760 765 785 790 795
m=890,m FV0=0 m=925,m FV0=0
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-— MW

($)1 o (S} o (3]
I I I I I
o ($)] o (&)}
I I I I

890 895 900
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41.
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39.
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40.
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39.

43.

42.

42.

41.

m=475, FV0=0
—— MW
5 .
0 .
5 .
0 -
5 T T T
475 480 485
m=675,m FV0=0
5 —— MW
0 .
5 .
0 .
5 .
6%5 GéO 6é5
m=825,m FV0=0
0 -
—-— MW
5 .
0 .
5 .
0 .
5 .
825 830 835
m=960,m FV0=0
-o— MW
0 .
5 .
0 .
5 -

960 965 970
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41.

41.
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40.
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42.

41.

41.

40.

40.

39.

42.

42.

42.

41.

42.

42.

41.

41.

40.

m=535, FV0=0

5&0 5&5
m=715,n FV0=0

750 7é5
m=855,n FV0=0

Bé4 866
m=1030m FV0=0

1035 1040
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:55

100

80

- 60

- 40

20

ggngégf %>= N\



P3-15

ByiE) | EBIAT (FD) | ERE (EA/4R) | BEREE(B/R) | XS ERE

05:55 283 150.0 2. 888 FE| 1BRi%@05:55 B (kABERSE)
08:15 283 150.0 2.888 |Z=| {Ri&e08:15 Bzl (KREEESE)
09:00 283 150.0 2.888 |Z=| {Ri%e09:00 Bz (KREEHE)
09:45 283 150.0 2.888 |Z=| {Ri%e09:45 Bz (KREAEHSE)
10:55 283 150.0 2.888 |Z=| {Ri&e10:55 Bz (REAEHSE)
11:45 283 150.0 2.888 |Z=| {Riget11:45 Bz (REAEHE)
12:40 283 150.0 2.888 |Z=| {Rige12:40 Bz (REAEHE)
13:35 283 150.0 2.888 |[/\i| 1Ri%@13:35 Bah (GREEESE)
14:15 283 150.0 2.888 FA| 1Ri%@14:15 Bzh (GRAERRSE)
14:50 283 150.0 2.888 FE| 1BRi%@14:50 Bz (kBERSE)
15:45 283 150.0 2.888 [Z=| 1Ri%e15:45 Bzh (REEESE)
16:55 283 150.0 2.888 |Z=| 1BRige16:55 Bzh (KRAEESE)
23t 3396.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.6

MEREHLER 2 5 MEIELRT (184.0
ZRIAEBRIERE147.0 ml.

147.0), AlEEHT—RE XA HS

large discrepency for begining water status (330:27.0), set to 330 ml.
[ /#REC 5973.0 K&, LA RECRE & IMIKERR
#[EKECE (1897.0 vs 5973.0) i35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=70 (2025-06-09)

150 A

100 A

50

150 -

100 A

50 -

V1, V8RRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2600
147 2208

398

00 Warning: lcol ['FVI',| "FVO'] missing 20

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

400 -

300

200

Bylnit @D73 02:03: ET=2084 Fg=2550.0 Ro=514.0
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0 1 2 3 4 5 6 7 8 9 10 12 13 14 15 16 17 18 19 20 21 22 23
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[ ] | _obs
—@— PPFD obs

1800 764 | 2000

- 3000

- 2000

- 1000

3000
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cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=370, FV0=0 m=415, FV0=0 m=525, FV0=0

—8— ME 34 1 —e— ME 34 —e— ME
31 -
33 -
30 337
32 -
29 -
32 -
28 e 1
- MNE 31 -
T T T T T T T T T T T T T
400 600 800 1000 370 375 380 415 420 425 525 530 535
m=615,m FV0=0 m=670,m FVO=0 m=715,m FV0=0 m=765,m FV0=0
34 —o— ME 34 7 —o— ME 34 —o— ME 34 - —o— ME
33 - 33 1 33 - 33
. 32 .
32 _ 32 32 N
31 -
] 31 -
31 31
T T T T T T T T T T T T
615 620 625 670 675 680 715 720 725 765 770 775
m=830,m FV0=0 m=865,m FV0=0 m=910,m FV0=0 m=965,m FV0=0
- MNE | 3404 - MNE | 3404 - ME - ME
i 33.5 -
33 33.5 - 33.5 1
33.0 - 33.0 - 33.0 -
327 32.5 - 32.5 -
32.5 -
32.0 - 32.0 -
31 - 32.0 -
31.5 - 31.5 -
31.0 - 31.0 - 31.5
830 835 840 865 870 875 910 915 920 965 970 975
m=1020m FV0=0 m m=370,m FV0=0 m=415,m FV0=0
34.0 - 40 1
42.0
33.5 -
39 41.5
33.0 -
41.0
32.51 38 1 40.5 1
32.0 - . —— W 40.0
1020 1025 1030 400 600 800 1000 370 375 380 415 420 425



m=525, FV0=0

43.0

42.5 -

42.0 -

41.5

41.0

—o—

M_W

T
525
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m=765,n FV0=0

T
535

43.0
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42.0 -

41.5

41.0 -

40.5

40.0

—o—

M_W

T
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m=965,n FV0=0

T
775

42.5 -

42.0

41.5 A

—o—

M_W
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43.

42.

42.

41.

41.

42.

41.

41.

40.

40.

43.

42.

42.

41.

m=615, FV0=0

—— MW

T
615

650
m=830,n FV0=0

T
625

——

M_W

T
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835
m=1020m FV0=0

T
840

—— MW

1020

1025

1030

42.

42.

41.

41,

40.

42.

42.

41.

41.

40.

m=670, FV0=0

—— MW
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m=865,n FV0=0

T
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—— MW
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m=713, FV0=0

43 A
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41 -
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——

M_w

T
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T
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T
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P3-15

BriE) | EBIATK (FD) | EHE (EH/H) | BEBRERE (/R |[XKS ERE

06:55 283 150.0 2.888 5 iRi1%@06:55 B &N (KAEHE)
07:30 283 150.0 2.888 A BRi&e07:30 Bzl (kAEEE)
08:05 283 150.0 2.888 A B21%@08:05 Bz (FRPBHEEE)
08:40 283 150.0 2.888 i RRi%008:40 Bz (FRAMEESE)
09:15 283 150.0 2.888 R BRi%@09:15 B3zh (KAL)
09:55 283 150.0 2.888 5 B218@09:55 Bzh (RFATREE)
10:40 283 150.0 2.888 R BRige@10:40 Bz (KBHEREE)
11:25 283 150.0 2.888 A Ri%e11:25 Bz (RAERS)
12:05 283 150.0 2.888 5 B2i18@12:05 Bzh (RAKRESE)
12:45 283 150.0 2. 888 5 Bi%@12:45 Bzh (GRAERESE)
13:20 283 150.0 2.888 5 B1%@13:20 Bzh (GRAEESE)
13:50 283 150.0 2.888 5 B218@13:50 Bzh (RAEESE)
14:20 283 150.0 2. 888 iS5 Bi8014:20 Bzh (RAKRESE)
14:50 283 150.0 2.888 {5 B21%@14:50 Bzh (GRAERESE)
15:25 283 150.0 2.888 i B2i8@15:25 Bzh (RAKEESE)
16:00 283 150.0 2. 888 RS B218016:00 Bzh (FRFAKREE)
16:45 283 150.0 2. 888 el FiTe16:45 B (kBERSE)
2it]4811.0 (17%) 2550. 0 JEUHKEC: 2080.0, PH: 5.6

TERRHLER 2 STEELRTF (184.0 :

ZRIAEBRIERE147.0 ml.

147.0), AlEEHT—RE XA HS

large discrepency for begining water status (369:48.0), set to 369 ml.
[E/&EC 5527.0 K75, B FARECALA AR

EERECE (1927.0 vs

5527.0) 35




P3-15_0, Day=69 (2025-06-08)

150 e —————F = s ]
VI, VO &RV, ET — VI, VO, FVI, EVO, FRV, adjFRV, ET
L 3000 ~
100 - 2500 2600 646 i
03§ ©
899 L 2000 £
50 - =
L 1000 &
20 Warning: lcol [FVI',| "FVO’'] missing 00
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200 1 T Vi — ME P
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> 5 | M EEEEEREREEEEN
o | I e nmnmn | 98
- L 1 DR R RN RNUNR RN N
U
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0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 B
0.6 -
0.4 -
0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.6 N
0.6 -
0.4 -
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 c
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m=385, FV0=0 m=415, FV0=0 m=495, FV0=0

—o— ME 34 1 —e— ME 34 1 —8— ME
30. 0 -
29.5 A 331 33 4
29.0 - 30
32 -
28. 5 -
31
—e— MNE | 2804 317
28 - - :
T T T T T T T T T T T T T
400 600 800 1000 385 390 395 415 420 425 495 500 505
m=550,m FV0=0 m=590,m FV0=0 m=625,m FV0=0 m=655,m FV0=0
—o— ME 341 —— we | 3407 —o— ME | 3404 —o— ME
33.5 -
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33 N 33 0 -
33.0 -
32.5 -
32 _
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32.0 -
i 31.5 -
3 31 4 31.5 A
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T T T T T T T T T 31 ° 0 B T T T
550 555 560 590 595 600 625 630 635 655 660 665
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